= o
N & o & AF & H Al A
20178 & =04 LBHSIH Aot A A
A dot=Z A A
M 58H0 B2 MLE +EWM
Sel: DI244E B2y (S &2)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AotrS ALE A 10,013,828 11,069, 841 A 1,056,013
=2 1,456,000
Xl 1,072,000
< 92,100
s 7,393,728
SEHQ L2 Aol =EIHM 5,192,269 7,350,843 A2,158,574
= 1,456,000
Xl 1,072,000
< 92,100
s 2,572,169
oS4 2229 2,029,831 1,152,900 876,931
Xl 1,072,000
s 957,831
OIS KA 498,402 498,402 0
101 @124l 20,754 20,754 0
UBEY EEN L 20,754 20,754 0
OJles 48,2403 250 12,060
O&N3 12,060,000 «4/12 4,020
ORrex=s+¥ 48,2403 «52=F 2,509
O¢xt==¢ 48,2403 x20=F 965
O &=l 600,000& »23| 1,200
201 Let249] 69,380 69, 380 0
01 At 22l 69,380 69,380 0
Olts&+E = =ZIA ==&
540,000 » 1274 2= 68,580
OIS A2 HA2EE AIZIHH DI
-+ 100,000& =4 Ml E x23] 800
202 04l 2,000 2,000 0
01 = LH Yl 2,000 2,000 0
O&4x=& g2 F&A 2,000
206 M= Hl 19,000 19,000 0
01 =8l 19,000 19,000 0
OLARSEANE ASAF P2 18,000
OAREF=EANE R2XM+=8 ¢ 1,000
401 Al& I 28I 387,268 387,268 0
01 A& Bl 385,000 385,000 0
Olts&xE feae 84
1,000,000& #1500 A 1 150,000
O=32H WH3A 100,000, 000& =1 100,000
Oltsads 228 70,000,000& » 14 70,000
Obts&ds= 238 30,000,000 » 14 30,000
O2RE=EANE A=) XA
3,500,000 1004 2 35,000
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AGHES ALY A
EEX0 2R MEtaT 2ENA
a4 E 2229 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 2,268 2,268 0
S=Z2EH DM S A 720,000 x 1 720
Ollsasx 22 B4 630,000 1 630
Ollsasx 28 B4 540,000 x 1 540
OARAEBEETANAE ASD| EXAY
378,000 x 14 378
AAREEESSIAIE XA 1,531,429 654,498 876,931
N 1,072,000
= 459,429
401 AlEHIZL 2 0HY| 1,531,429 654,498 876,931
N 1,072,000
= 459,429
01 Al&EH| 1,525,915 650,000 875,915
OLFARSEZAIE N HE 1,525,915
Xl 1,072,000
= 453,915
03 Al 201 Y| 5,514 4,498 1,016
OAR2LETAIAE JHE 1,531,429,000& +0.36% 5,514
ST AIE W 3,002,271 6,038,016 ~3,035,745
2 1,456,000
= 92,100
= 1,454,171
=HelAlE A2 5,772 5,472 300
201 LBt 5,772 5,472 300
01 AP 22| H| 3,572 3,572 0
O=x=Z A AHH| 172
O&ZXE GAHUHE A RO 2002 2, 0000 13| 400
O=2sg&a HogsgE 7Y 3,000
02 232%H4| 2,200 1,900 300
O&dSIE GtUHGE AN &= 3002 2, 00000 x13] 600
Oatot4=% &3l 1,600,000 x14 1,600
UMGABUHUT FH FEAAY 30,000 30,000 0
401 AlEHIZL 2 0HY| 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OYal plx=sUXelE =HESAIE 30,000
ZENFY HSLAY 10,000 10,000 0
401 AlEHIZ 2 0HY| 10,000 10,000 0
01 Al& B 10,000 10,000 0
OZ2ZTS&EA MHES 10,000
STl 8% ¥ Z2l(S0ENS+EEE) 1,362,428 2,640,000 A1,277,572
= 953,000
= 409,428
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A dot=Z A A
M SEH0 HZZ Aot =EIMA
SRl Sl AlE A CEE-ED
L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
T AEHZXEUY 1,362,428 2,640,000 A1,277,572
= 953,000
s 409,428
01 A& HI 1,353,460 2,628,953 A1,275,493
OUFXZ sHE0IS0t=S HUlALY
933,858,000 *(1-0.63%) 927,975
= 653,000
= 274,975
O ,23X7 sHE0Sct=E HHIAY
428,570,0009 *(1-0.72%) 425,485
= 300,000
= 125,485
03 AIE 2 0HHI 8,968 11,047 N2,079
OUBXZ sHE0IS0t=S HUlALY
933,858,000& *0.6299% 5,883
O2Y, 28X+ sHE0t25tS HHIALY
428,570,000 *0.7198% 3,085
ot =& & 22 100,900 100,900 0
T AEHIZXEUY 100,900 100,900 0
01 A& HI 100,000 100,000 0
Odt=& &4 ¢ 2l 100,000
03 AlE =TI 900 900 0
Oot=& && & 2l 900
St 20 Fe=JAY 100,900 100,900 0
401 AIEBIZ 201 8] 100,900 100,900 0
01 Al 100,000 100,000 0
Odt=& 20 Fo=3A A 100,000
03 AIE 2 0HHI 900 900 0
Odt=E 20t == ALY 100,000,000%0. 9% 900
DIS5taE HBAY(HAIR) 211,512 211,512 0
401 Al BIZ 201 8] 211,512 211,512 0
01 A& HI 210,000 210,000 0
O0tSot=HMel & & SHEZE AIE&= WA
& 210,000
03 A& =2 THHI 1,512 1,512 0
ObtSata% MHBASE (Hel &) 1,512
StaTol HX U Bel(GBAHFH) 718,571 2,148,000 A 1,429,429
= 503,000
i 215,571
401 AIEHIZ 28I 718,571 2,148,000 21,429,429
= 503,000
i 215,571
1 A&l 714,045 2,140,268 A1,426,223
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SN AT AIY A
M SEH0 HZZ Aot =EIMA
&l St Ald A CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oa 263 dSt==2t) FHIAMY
718,571,000 (1-0.63%) 714,045
= 503,000
s 211,045
03 Al S THHI 4,526 7,732 A 3,206
Oa 263 dt==2t) FHIAY
718,571,000+0.6298% 4,526
DiSotaE HEASE (2Z) 277,988 312,232 N 34,244
401 A& HIZ 201 I 277,988 312,232 N 34,244
01 A& HI 276,000 310,000 A 34,000
O2 AHLX T2 1A St2Z2 E3A
276,000,000%* 14 276,000
03 AlE 2 THHI 1,988 2,232 A 244
OLISdt=% HEBAIY (22)
276,000,000%0.72% 1,988
28 HESO0EAE XM 5,000 5,000 0
< 2,500
s 2,500
401 AIEHI L 2CHEI 5,000 5,000 0
< 2,500
[ia 2,500
01 A& Bl 5,000 5,000 0
OAd SS0ISAE EXNAEY
28 SQS0IEAE 145,000,000 5,000
< 2,500
s 2,500
SSAE ML EY EFSAY 179,200 0 179,200
= 89,600
[ia 89,600
401 AIEBI L 20HEI 179,200 0 179,200
= 89,600
[ia 89,600
01 A& Hl 177,910 0 177,910
OMEH SZESEA ESAY
179,200,000%(1-0.72%) 177,910
< 89,600
s 88,310
03 Al 2 0HHI 1,290 0 1,290
OMED SZSHEA EFAY
179,200,000%0.7197% 1,290
3 Jlaae 160,167 159,927 240
& 2l 160,167 159,927 240
101 @124l 41,507 41,507 0
04 JI2ZtHZ22EE = 41,507 41,507 0
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A dot=Z A A
Hm: SEMQ BRIR MSAT SEM
Sl AF Jl=Ee (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFx=Z 222l 41,507
—Jlzs 48,2403 250 «2H 24,120
—&0= 12,060,000% *4/12%2H 8,040
—ReEFsrE 48,2403 x52=F+2YH 5,017
—Qx=g 48,2403 x20 Y x2H 1,930
— B2 S0td| 600,000& *x23| x2H 2,400
201 Let24d] 118,660 118,420 240
01 At 22l 118,660 118,420 240
Oga=¢ 116,160
— =2 H| 60,000 *3652 «2H *20H A 87,600
— LA 60,0003 « 119 «2H «2H £ 28,560
O+ H48 28 Y22 S2HI(2H2)
2,500,000 » 14 2,500
MEES(AMot=TAIEA) 4,776,635 3,672,198 1,104,437
HEHHKE 4,776,635 3,672,198 1,104,437
ST ANSELIH MES 4,293,993 3,639,245 654,748
701 JIEtSI HSEEES 4,293,993 3,639,245 654,748
01 JIEtSIHE &3 4,293,993 3,639,245 654,748
O+ ANLSEEH d=3 4,293,993
St=C AL SESH dES 482,642 32,953 449,689
701 JIEtSI HSEHES 482,642 32,953 449,689
01 JIEtSI HEES 482,642 32,953 449,689
Odt=SALSESH =3 482,642
HHE2H I (Aot=Z At L) 44,924 46,800 N 1,876
Jl= &l 44,924 46,800 A 1,876
aot=Z At A D22 Hl 44,924 46,800 A 1,876
201 L2l 16,524 17,280 AT756
01 At 22l 16,524 17,280 AT756
O S & 972,000*17 16,524
202 o4dl 20,520 21,600 A1,080
01 = LH &4 1l 20,520 21,600 A 1,080
O AN 20,520,000% 14 20,520
203 YR =] 7,880 7,920 A40
02 33t H R =8| 680 720 240
O FRIMAE R F 2| 40,000 * 17 680
03 A F=XH R =AY 3,000 3,000 0
O &ot=& 22 g2 =& 3,000
04 EA2IYRFLH| 4,200 4,200 0
O BA2HIERFAHI 350,000& = 12& 4,200
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